SATPREP

Assignment : Binomial Theorem

Answer

Find the first three terms, in descending powers of x, in the expansion

of(

4
2x—2) .
X

Find the first three terms, in ascending powers of x, in the expansion (2 + kx)°®.
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Find the first three terms, in ascending powers of x, in the expansion
(1-2x)°.
Hence find the coefficients of x and x” in the expansion of (4 — x)(2 — 4x)°.

Find the first three terms, in descending powers of x, in the expansion
5\
w-kJ.
( x?
Given that the value of the term in the expansion which is independent of
x is 240, find possible values of k.

Find the first three terms, in descending powers of x, in the expansion of
6
(x2 - l) :
i

6
Find the coefficient of 2’ in the expansion of (x2 - l) .
x

Lo 16x*—64x>+96
2 64+192kx +240k*x*
3.() 1-12x+60x>
(i)  _3136,16128
4.(1)  4096x° —6144kx’ + 3840k

(i) 41

4

51 x"Z-6x"+15x°
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